Name: Date:

Rounding Numbers 504

What is a bow that is impossible to tie? A rainbow.

Round these numbers to the nearest 100.

L 9352 = © 44667 = 5,556 =
© 62= 8,745 = 9,043 =
720 = 44,409 = 14,092 =
40 = 94,757 = W 446 =
® 4542 = 22 145 = ® 508 =
© 9032-= 73.544 = ® 86 =
@ 18 = W 249 = 6,118 =
870 = 2 3930 = ® 418 =
© 91 = ® 723 = 5,080 =
55 = 172 = 1967 =
W 5g = ® 1340 = 116 =
© 9079 = 933 = 277 =
© 17788 = @ g1 = 2 451 =
52 =
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9,352 = 9,400

62 = 100

720 = 700

40 =0

4,542 = 4,500

9,032 = 9,000

18 =0

870 = 900

91 =100

55 =100

56 = 100

9,079 = 9,100

17,788 = 17,800

52 =100
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Name:

Date:

Rounding Numbers 504

What is a bow that is impossible to tie? A rainbow.

Round these numbers to the nearest 100.

44,667 = 44,700

8,745 = 8,700

44,409 = 44,400
94,757 = 94,800
22,145 = 22,100

73,544 = 73,500

241 = 200

3,930 = 3,900

723 = 700

172 = 200

1,340 = 1,300

933 = 900

81 = 100
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5,556 = 5,600

9,043 = 9,000

14,092 = 14,100

446 = 400

508 = 500

86 = 100

6,118 = 6,100

418 = 400

5,080 = 5,100

1,967 = 2,000

116 = 100

277 =300

2,451 = 2,500
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Score:



